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— NHETY RN —

71 x9=63[7
71 x8=56[7
71 x7= 497
71 x6=42[7
71 x5=35[7
71 x 4= 287
71 x3= 212
71 x2= 147
7Ix 1= 1073
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11 x9= q[7
11 x8= 87
1 x7= 1707
11 x6= 6[7
11 x5= 5[7
1 x4= 47
11x3= 302
1 x2= 27
Hxi= 107

— NHETYRE —

26 x9= 237
26 x8= 202
26 x7= 187
26 x6= 152
26 x5= 132
26 x 4= 107
26 x3= 177
26 x2= 5[7]
26 x 1= 27
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— DMFETYRE —

28x9= 257
28x8= 227
28x7= 197
28x6= 167
28x5= 147
28x4=11[7
28x3= 87
28x2= 5[7
28x 1= 2
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67x9= 607
67 x 8= 537
67 % 7= 467
67 % 6= 407
67 x 5= 337
67 x 4= 267
67x3=20[7
67x2= 137
67x 1= 6
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17%x9=15[7
17x8= 137
17x7=11[
17%x6=10[7
17%x5= 8[7
17x4= 6[7
17x3= 5[
17x2= 37
17x1= 103
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99 x 9= 897
99 x 8= 797
99 x 7= 697
99 x 6= 597
99 x 5= 497
99 x 4= 397
99 x 3= 297
99x 2= 197
99x 1= 97
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44x9= 397
44 x 8= 357
44 x7= 300
44x6= 267
44 x5= 227
a4 x 4= 1707
44x3= 130
4 x2= 87
44 x 1= 47
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21 x9=18[7
21 x8=16[7
21 x7=14[7
21 x6=12[7
21 x5= 1007
21 x4= 87
21 x3= 67
21 x2= 47
21x 1= 27
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